
Package contents
Check your motherboard package for the following items.

a) Chassis: ACS-1U01 e) 1* SATA Power cable

b) CPU board f) 2.5” HDD tray, attach 4 screws in screw pack

c) Passive heatsink or 1U cooler (depends  
on witch SKU customer order)

g) Wall Mount Kit (bracket+screw)

d) 1* SATA cable h) Driver CD

Product overview

ACS-1U01
Quick Start Guide

1

2

4

10

11

12

3

5

6

7

8

9

1) Top cover

2) Cooler/ Heatsink (optional)

3) 2.5” HDD bracket

4) Mini-ITX motherboard

5) Wall mount brackets

6) Chassis screw x6, M3*5L 

7) HDD bracket screw x8, M3*5L 
(4 for HDD in package, 4 at system)

8) Mini-ITX motherboard screw x4, #6-32*7L

9) Wall mount bracket screw x4, #6-32*7L

10) Antenna hole plug

11) USB cable screw x4, M3*5L

12) VGA/COM cable screw x2, STAND OFF #4-40*7L

NOTE:  If any of the above items is damaged or 
missing, contact your retailer.

NOTE:  The specifications of the power adapter vary in different SKUs.

Connecting the power adapter

15060-68600000



Safety information
Your ACS-1U01 is designed and tested to meet the latest standards of safety for information technology equipment. However, to ensure your safety, it is important 
that you read the following safety instructions.

Setting up your system
• Read and follow all instructions in the documentation before you operate your system.

• Do not use this product near water or a heated source.

• Set up the system on a stable surface.

• Openings on the chassis are for ventilation. Do not block or cover these openings. Make sure you leave plenty of space around the system for ventilation. 
Never insert objects of any kind into the ventilation openings.

• Use this product in environments with ambient temperatures between 0˚C and 50˚C.

• If you use an extension cord, make sure that the total ampere rating of the devices plugged into the extension cord does not exceed its ampere rating.

Care during use
• Do not walk on the power cord or allow anything to rest on it.

• Do not spill water or any other liquids on your system. 

• When the system is turned off, a small amount of electrical current still flows. Always unplug the power cord from the power outlets before cleaning the 
system.

• If you encounter the following technical problems with the product, unplug the power cord and contact a qualified service technician or your retailer.

– The power cord or plug is damaged.

– Liquid has been spilled into the system.

– The system does not function properly even if you follow the operating instructions.

– The system was dropped or the cabinet is damaged.

– The system performance changes.

Notices
Federal Communications Commission Statement
This device complies with Part 15 of the FCC Rules. Operation is subject to the following two conditions:
• This device may not cause harmful interference.

• This device must accept any interference received including interference that may cause undesired operation.

This equipment has been tested and found to comply with the limits for a Class A digital device, pursuant to Part 15 of the FCC Rules. These limits are designed to 
provide reasonable protection against harmful interference in a residential installation. This equipment generates, uses and can radiate radio frequency energy and, 
if not installed and used in accordance with manufacturer’s instructions, may cause harmful interference to radio communications. However, there is no guarantee 
that interference will not occur in a particular installation. If this equipment does cause harmful interference to radio or television reception, which can be determined 
by turning the equipment off and on, the user is encouraged to try to correct the interference by one or more of the following measures:
• Reorient or relocate the receiving antenna.

• Increase the separation between the equipment and receiver.

• Connect the equipment to an outlet on a circuit different from that to which the receiver is connected.

• Consult the dealer or an experienced radio/TV technician for help.

WARNING!   The use of shielded cables for connection of the monitor to the graphics card is required to assure compliance with FCC 
regulations. Changes or modifications to this unit not expressly approved by the party responsible for compliance could void the user’s 
authority to operate this equipment.

DO NOT throw the motherboard in municipal waste. This product has been designed to enable proper reuse of parts and recycling. This 
symbol of the crossed out wheeled bin indicates that the product (electrical and electronic equipment) should not be placed in municipal waste. 
Check local regulations for disposal of electronic products.

DO NOT throw the mercury-containing button cell battery in municipal waste. This symbol of the crossed out wheeled bin indicates that the 
battery should not be placed in municipal waste.

電子信息產品污染控制標示：圖中之數字為產品之環保使用期限。僅指電子信息產品中含有的有毒有害物質或元素不致發生外洩或突變從而對環境造成污
染或對人身、財產造成嚴重損害的期限。

部件名稱
有害物質或元素

鉛 (Pb) 汞 (Hg) 鎘 (Cd) 六價鉻 (Cr(VI)) 多溴聯苯 (PBB) 多溴二苯醚(PBDE)

印刷電路板及其電子組件 × ○ ○ ○ ○ ○

外部信號連接頭及線材 × ○ ○ ○ ○ ○

有毒有害物質或元素的名稱及含量說明標示：

○： 表示該有毒有害物質在該部件所有均質材料中的含量均在 SJ/T 11363-2006 標准規定的限量要求以下。

×： 表示該有毒有害物質至少在該部件的某一均質材料中的含量超出 SJ/T 11363-2006 標准規定的限量要求，然該部件仍符合歐盟指令 2002/95/EC 的規范。

備註：此產品所標示之環保使用期限，係指在一般正常使用狀況下。


